

May 31, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Fencing Change Order

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

Description	Quantity	Unit	Unit Price		Total
Remove and Replace White Vinyl 3 Board Fence	412	LF	\$	67.80	\$ 27,933.60
Replace White Vinyl 3 Board Fence	-412	LF	\$	57.00	\$ (23,484.00)
			TOTAL		\$ 4,449.60

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction

By Todd McDaniel, PE



August 3, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Header Curb Modified

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UNIT	PRICE	TOTAL
Header Curb (Modified)	230.00	LF	\$	42.00	\$9,660.00
			GRA	ND TOTAL	\$9,660.00

Cost: \$8,400 (includes 12 CY of Concrete Class A, 230 SF of Expansion Joint Material, Equipment, Labor/Burden, and any incidental costs required to complete the change order).

At 15% Markup, which includes G&A, ATS Construction submits \$9,660.00 or \$42/LF to complete this work.

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction By Todd McDaniel, PE



August 16, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Mass Concrete

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UN	IIT PRICE	TOTAL
Mass Concrete	14	CY	\$	307.00	\$4,298.00
			GRA	ND TOTAL	\$4,298.00

Cost:

\$153.50/CY for Concrete Material. Mass Concrete two times the concrete invoice price per

KYTC specifications. See snip of imi concrete invoice for this project.

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

P.O. No. Job No.		P.O. No. Job No. Project No.			lo.	Order No.			
623	014			322817			216		
Plant	Item No.	Description		Qty	UOM	Price	Extended Amount		
868	9210KY	CLASS A CURB & GUTTER	10 10 1	5.0.0.0	су.	148.00	7,400.00		
868	18401	RETARDER 1		50.00	/y	3.50	175.00		
868	31	ENVIRONMENTAL FEE	86884815	5.00	ea	20.00	100.00		

* * THANK YOU FOR YOUR BUSINESS * *

L-M Asphalt Partners, Ltd. dba ATS Construction By Todd McDaniel, PE Project Manager and Estimator



August 30, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements LFUCG Curb Box Inlet Type B Addition

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UNIT F	RICE	TOTAL
LFUCG Curb Box Inlet Type B- Additional Material Cost	2	EA	\$	500.00	\$1,000.00
			GRANI	TOTAL	\$1,000.00

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction

By Todd McDaniel, PE



September 13, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Seeding Parcel 10

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UNIT P	RICE	TOTA	L
Seeding (Parcel 10)	1.00	LS	\$	262.50	\$	262.50
			GRAND	TOTAL	\$	262.50

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction By Todd McDaniel, PE



November 3, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Electrical Change Order

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UI	UNIT PRICE		TOTAL
Lighting Base	1	EA	\$	1,890.00	\$	1,890.00
Additional 2" PVC SCH 40	40	LF	\$	10.50	\$	420.00
Coupling 2" PVC SCH 40	6	EA	\$	42.00	\$	252.00
Demo Existing Lighting Case	1	EA	\$	\$ 2,583.00		2,583.00
			GRAND TOTAL			\$5,145.00

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction By Todd McDaniel, PE



November 3, 2023

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Gribbin Drainage Change Order

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL
Drainage Adjustment	1	LS \$5,500.00		\$5,500.00
			GRAND TOTAL	\$5,500.00

Summary of costs below: Labor/Burden = \$3,305.67 Materials = \$510.33 Equipment = \$767.33 Profit = \$916.67

Total = \$5,500.00

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd.

dba ATS Construction

By Todd McDaniel, PE



April 12, 2024

Mr. Scott Gabbard, PE LFUCG Division of Engineering 101 E. Vine Street, 4th Floor Lexington, Kentucky 40507

RE: LFUCG 156-2022 Mt. Tabor Multimodal Improvements Gribbin Drainage Improvement Change Order Proposal

Dear Sir:

As requested, the following supplemental Unit Prices are hereby submitted for your consideration for furnishing all labor, equipment, and materials for the following items of work on the above referenced project.

DESCRIPTION	QUANTITY	UNIT	UNIT PRICE	TOTAL
LFUCG CBI Type D (Existing Bid Item)	1	EA	\$ 5,400.00	\$ 5,400.00
Remove Curb and Gutter	32	LF	\$ 20.00	\$ 640.00
LFUCG Concrete Curb and Gutter Type 1 (Existing Bid Item)	32	LF	\$ 23.30	\$ 745.60
Seeding and Protection	30	SY	\$ 4.00	\$ 120.00
Remove Sidewalk	7	SY	\$ 100.00	\$ 700.00
Sidewalk Ramp (Existing Bid Item)	7	SY	\$ 70.00	\$ 490.00
Detectable Warnings (Existing Bid Item)	6	SF	\$ 18.00	\$ 108.00
12" PVC Pipe (Existiing Bid Item)	32	LF	\$ 175.00	\$ 5,600.00
Cored Hole Drainage Box	1	EA	\$ 600.00	\$ 600.00
Mobilization	1	LS	\$ 4,000.00	\$ 4,000.00
Maintain and Control Traffic	1	LS	\$ 2,500.00	\$ 2,500.00
Staking	1	LS	\$ 1,500.00	\$ 1,500.00
			TOTAL	\$22,403.60

Should additional information be needed, please contact me at (606) 813-6671

Respectfully submitted,

L-M Asphalt Partners, Ltd. dba ATS Construction

By Todd McDaniel, PE